N = 0l & AF & F Al A
2000E = =0l &F 2 BHE|

2N 230l=1
M 2
(=R I —

cHol: Xges g (eH9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Z3H0ll= 72,833,969 58,605,454 14,228,515
= 25,903,900
s 9,104,000
J| 275,000
= 3,471,929
& 34,079,140
Fol=d=sE 71,937,089 58,217,914 13,719,175
= 25,903,900
s 9,104,000
J| 275,000
= 3,471,929
& 33,182,260
ANL2aaEe 13,752,400 10,619,320 3,133,080
= 393,000
as 3,102,000
& 10,257,400
SN2 2 2 AEXA 1,745,000 1,752,840 AT,840
= 393,000
s 1,352,000
308 XXIEHMSO0IE 393,000 402,840 A9,840
= 393,000
01 XXHNBINEXZ 393,000 402,840 A9,840
OZZTANB HBAIZ OF
786,000, 0003 *50% 393,000
= 393,000
403 XXIEMSAH20IH 1,352,000 1,350,000 2,000
s 1,352,000
01 AXSHMR=E X 1,352,000 1,350,000 2,000
Olld sHEEA2 AHE 500,000
s 500,000
Ottt sHEZ A2 HE 217,000
s 217,000
OF SR A2 HE BTL 75,000
s 75,000
Ogd NEEIAAL=HEH2AHE BIL 560,000




SN 25H0=
Ha: 20z dE
el Y2 Ee (9l &2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hlw &2
= 560,000
Ng25a ALBSH 2 868,000 358,000 510,000
= 450,000
= 418,000
307 212H0IH 10,000 0 10,000
02 SIRABABE 10,000 0 10,000
O2se ARHY 2ns 10,000
308 KX EHHSOIA 338,000 348,000 210,000
01 RASHMBLRES 338,000 348,000 210,000
ONY 2 AN S S
38,000, 00021 * 1794 A %25% 161,500
OS5 I2AY Al 200,000, 000! *50% 100,000
ONY23e SFEQIZ W2 AY X
306,000, 000! *25% 76,500
403 RXSHSKZ0IH 520,000 10,000 510,000
= 450,000
= 70,000
01 RXISHIZLE 520,000 10,000 510,000
OUE2EE ASAL 450,000
= 450,000
OME2sR B4 70,000
NegELSEHS LR 604,500 529,300 75,200
201 er2oty| 4,500 9,300 £4,800
01 ARzl 4,500 9,300 ~4,800
OZRMASIRE L BT 4,500
308 KA EHMSOIH 600,000 520,000 80,000
01 RANSHBYZES 600,000 520,000 80,000
ONSBESSEH X 500,000
0472 Xe23t #A X2 (Pool)
200,000, 000! *50% 100,000
e NENE RS 5,715,000 3,800,000 1,915,000
= 1,300,000
= 4,415,000
403 RXISHEX=0IH 5,715,000 3,800,000 1,915,000
= 1,300,000




22X S3u=
HH: 2U=TE
£rol: Y2 EEe (crol: & 2)
_ _ MU
2N -3 - c2(3H) - NEME - HES 0] Ao loﬂ/l\_Fo” Hl =2
403 XXISHHMSKE0lH T 4,415,000
01 XXESHA2EE 5,715,000 3,800,000 1,915,000
O=2032 21222 (Pool)
2,830,000, 000& *50% 1,415,000
O=4d2032 2 500,000
g 500,000
OZd=X20 g 2AHE
4,000,000, 000-& *50% 2,000,000
Oolaekx HIOS Hel =4 800,000,000 800,000
Ray 800,000
OgdSstlzs UHEHAHE 1,000,000
HHEZREAS 4,680,000 4,080,000 600,000
201 LB IH| 50,000 0 50,000
01 ArR2t2|bl 50,000 0 50,000
OYN St HIF HIE 50,000
306 =¢H= 4,630,000 4,000,000 630,000
01 4¢3 4,630,000 4,000,000 630,000
OYXHEZ3tM SEM= 8,000,000, 000& *50% 4,000,000
OYMEs SN EXNS 80,000
OJIEE HHR=E 22 &AlS 100,000
O "FCter JAOIE" HIE 50,000
OHNigsl st=< PDEH 300,000
OL2H0 WHA AP, 2 AR 100,000
S0 =AY 29 118,900 86,600 32,300
201 B2 HH| 65,300 46,000 19,300
01 AR 22|l 44,300 20,000 24,300
O I2sta 29 100,000 602! x 13| 6,000
ORUBHA 29 100,000& 202! *23| 4,000
OOt Zoesdo 29
100,000& 202! x23| 4,000
OXSEIIE 39 2Y
100,000& 1501 %13] 1,500
O MAAS & X EZAE
120,000& 2001 *123] 28,800
03 S#AISHHI 21,000 26,000 25,000
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SN 2802
M 250|sXE

Sl NSRS (£ @8
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
OZ=0F NSLAK S AL 584,640
2 292,320
= 292,320
ELAZEINAY 104,000 151,000 A47,000
| 52,000
= 52,000
307 eI2t0lH 104,000 151,000 A47,000
o] 52,000
= 52,000
2 LIAANBE 104,000 151,000 47,000
OSLAZEIAAE 104,000
p] 52,000
= 52,000
SHTUNE MK 289,900 289,900 0
| 223,000
= 66,900
308 XHXISHHISOIH 289,900 289,900 0
| 223,000
= 66,900
01 RASHMBARES 289,900 289,900 0
ORUTARE MEXAY
446,000, 0002 *65% 289,900
p] 223,000
= 66,900
EERETEE Y E-BL 68,000 68,000 0
= 8,000
= 60,000
308 KHXISHHISOIH 68,000 68,000 0
= 8,000
= 60,000
01 RACSHBARES 68,000 68,000 0
ORIS03l St=20I&0SER &It 50,000
2 5,000
= 45,000
ORl163l H2HAHB0EH 18,000
2 3,000




A 2301

M Zol=dE

CHol: X0 &S (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

== 15,000

NS0 =W HEIAS 300,000 211,000 89,000
= 150,000
& 150,000

307 QI2tolA 300,000 0 300,000
= 150,000
== 150,000

02 QI2HEAMNEX 300,000 0 300,000
OXI 250l & DS M E ALY 300,000
= 150,000
= 150,000

=230 =8 EANY 80,000 145,000 A65,000

308 AHXIExSO0IA 80,000 95,000 A 15,000

01 XXNHHBIAEXZ 80,000 95,000 A 15,000
O=Y OIEHN 60,000, 000& *50% 30,000
OsF==2Hol=H 100,000, 000& *50% 50,000

A 230l DS ALY 182,000 182,000 0
= 140,000
& 42,000

308 AHXIEHHSO0IA 182,000 182,000 0
= 140,000
= 42,000

01 AXSHHIABEZ 182,000 182,000 0
OALZ 230z AL 280,000, 000& *65% 182,000
= 140,000
T 42,000

2= CIIIEANE RS 1,230,000 1,480,000 A 250,000
g 1,230,000

403 XXM SK201H 1,230,000 1,480,000 A 250,000
g 1,230,000

01 XXESHAE2EX 1,230,000 1,480,000 A 250,000
O0l2+ 22 HE 800,000
rag 800,000
O0ISkt MIHX =3 ¥ Jga HE 430,000




A 2301
M =S

1]

ool XSS (St5: & 2)
_ _ _ Muo
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Rz
2 430,000
Xl 250l =2 S X2 (Pool ) 515,000 426,000 89,000
307 eI2t0|H 400,000 396,000 4,000
04 BIABAIBE 400,000 396,000 4,000
ONSSHE LS 2 400,000
308 XXISASOIH 95,000 30,000 65,000
01 XASHMBLRES 95,000 30,000 65,000
OAQIX A0 SSX & 100,000, 00021 30% 30,000
OARE NA23t0z 8E X2
130,000, 0002 *50% 65,000
402 QIR+ 0IF 20,000 0 20,000
01 PARESE 20,000 0 20,000
SEEL EET P ENEI =L 20,000
ROt RHBSAY 208,000 208,000 0
= 160,000
= 48,000
308 XHXISHHISOIH 208,000 208,000 0
= 160,000
= 48,000
01 XNASLHINBES 208,000 208,000 0
OBOII=SSEE AR 320,000, 0002 *65% 208,000
= 160,000
= 48,000
TYnz 29 5,002,950 5,047,310 45,640
301 YsrPAZ 96,000 100,000 A4,000
07 EIRteI=elolt| 96,000 100,000 A4,000
OBYK=HAZ 32,000, 00021 *3E+ 96,000
308 KHXISHHISOIH 4,996,950 4,937,310 59,640
01 KASHALBES 4,996,950 4,937,310 59,640
Osg=opsoey
2,324,000, 000! *60% 1,394,400
OELDgAL2Y 3,443,000, 0002 *70% 2,410, 100
Osd=AH2Y 1,279,000, 0002 *70% 895,300
Osdozy=op2Y 424,500, 00024 +70% 297, 150




SN 2802
M 250|sXE

Sl XS ENS (29l &8)
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot HusZ
XIS 250 &8 A X & 185,000 465,000 280,000
307 BI2HOIH 120,000 0 120,000
04 BIABAFEE 120,000 0 120,000
O=LuEH 120,000
308 RXIEHSOIN 65,000 465,000 400,000
0 KNXNSHILRES 65,000 465,000 400,000
OHDIe =/ ol 30,000, 00024 *50% 15,000
OZ= ZZ MU 10,000, 000! *50% 5,000
0237 20X 10,000,000 *50% 5,000
OEEIE-PNEI] 20,000, 0002 *50% 10,000
OF= 2223 60,000, 0002 *50% 30,000
N esttssHEs X 830,000 930,000 A100,000
307 BI2H0IH 150,000 350,000 200,000
04 BISAFZE 150,000 200,000 50,000
OOFAIOF Dt =R 150,000
308 XHXIEFHSOIN 580,000 580,000 0
01 KANSHHALRES 580,000 580,000 0
OZANE2 H2HEHE 180,000, 000! *50% 90.000
OutSd mAzl Y& - YD
140,000, 000! *50% 70,000
On0tE HIRFE 2|
240,000,000 *50% 120,000
OEMS SIIEISA=T
200,000,000 *50% 100,000
OHH ME=0I0H3] 400,000,000 *50% 200,000
403 TXIEHSKHE0IT 100,000 0 100,000
01 XXSHAERE 100,000 0 100,000
OAES=0l SH2SYDNSH MESS XK
Xl 60,000, 00024 *50% 30,000
OAESE0l H2SUDNSY BolM AS
80,000, 0002 *50% 40,000
OAES=0l S#2YDNSH IENES e
= 60,000, 0002 *50% 30,000
HHDEE=ALEIHE 15,000 0 15,000
201 L2yl 15,000 0 15,000




SN 251012
H: 250=AE
ool X SosEE (ee: @2
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH %Egﬁ Hns2
TEERL 15,000 0 15,000
OHUDIEESALE TR Z(40F) 15,000
HE0] FX 2 AL 84,000 100,000 16,000
308 X XIEHHSOIE 84,000 100,000 16,000
01 XXSHIABE2 84,000 100,000 16,000
OSHESESH 25X 200,000, 000! *30% 60,000
O EAIYSD SHAY 80,000,000 *30% 24,000
2o HE L BE 48,416,199 37,084,314 11,331,885
= 24,920,580
2 4,772,000
2 3,311,929
= 15,411,690
OIS SABIH =R 16,500 208,000 191,500
=2 11,000
[ 5,500
308 XX SHHISOI® 16,500 208,000 191,500
=2 11,000
[ 5,500
01 XXSHZABXZ 16,500 208,000 191,500
OZINXNHSSH ot HeldlE =4
22,000,0002! *75% 16,500
= 11,000
< 5,500
OIS As2el X 177,500 20,000 157,500
=2 125,000
[ 52,500
308 XX SHHISOI® 20,000 20,000 0
=2 20,000
01 XXESHZAEED 20,000 20,000 0
O=Jt2es e ez 20,000
= 20,000
403 TXISHSK=0IA 157,500 0 157,500
= 105,000
[ 52,500
01 BEEES 157,500 0 157,500




2AH: 230l=1
N ol=rE
& 23 Hs L EE CER:E
A -3 -H2A(SH) - HEAMY - BES O AFH glga_":‘g Hos
OZIXNEEM HIANERS
210,000, 000& *75% 157,500
= 105,000
= 52,500
dSAEE =TI 2,850,000 1,068,000 1,782,000
= 1,900,000
= 950,000
403 XXM SX20IH 2,850,000 1,068,000 1,782,000
2 1,900,000
= 950,000
01 XXSHHA2LEE 2,850,000 1,068,000 1,782,000
ONEANEESEHI 3,800,000, 000 *75% 2,850,000
= 1,900,000
& 950,000
SENEAES Taeldl AFEXIA 4,069,000 2,899,000 1,170,000
= 3,130,000
& 939,000
403 KX SKH201H 4,069,000 2,899,000 1,170,000
s 3,130,000
= 939,000
01 XXM IA2EX 4,069,000 2,899,000 1,170,000
OSFNEAN2EE &I A
1,000,000, 000& *65% 650,000
s 500,000
< 150,000

OFRdSZEIANT22TE W

3,000,000,000& *65% 1,950,000
s 1,500,000
S 450,000
OE24dIE FAIZs2tE MY
2,260,000,000& *65% 1,469,000
[ 1,130,000
S 339,000
2 ds0I8t 2= 1,007,682 777,000 230,682
s 450,000
= 62,678
= 495,004
308 XAXISMSOIH 422,682 192,000 230,682




2AM: 250=
M. 2I0=RE
@ 2N HS ¥ B& CER:E
_ _ PIIEL=
2N -3 - c2(3H) - NEME - HES 0] AFCH bﬂ/‘\_“’” Hns
308 AXSHHSOIH = 62,678
= 360,004
01 AXHMBMNEEXZ 422,682 192,000 230,682
OFRER3M SN2 (BERA, =)
682,400,000 *50% 341,200
OS2I MZHMEAL E XA
125,356,000 *65% 81,482
= 62,678
< 18,804
403 XXIEHMSAZ20lH 585,000 585,000 0
rag 450,000
= 135,000
01 XAXESHA2EEX 585,000 585,000 0
OREZM MSIE 2EAY X (YA
JIXIAl 2CHelD1) 900,000, 000-& *65% 585,000
s 450,000
< 135,000
NAHES3SA STHE ASH St==X Al 200,000 200,000 0
207 SHAFOHEH] 200,000 200,000 0
01 HxE49H| 200,000 200,000 0
ONAH SR STHE fst 31 HREd 200,000
NS 25H25H) di=dSHEH 110,000 165,000 255,000
308 AXIEHXMSOIA 110,000 165,000 55,000
01 XXNHHBIAEXZ 110,000 165,000 55,000
OXNYSstils MHEM(4H)
220,000, 000& *50% 110,000
gt25H 2= d| (POOL) 1,150,000 1,000,000 150,000
403 XXIEHHMSA=20lH 1,150,000 1,000,000 150,000
01 XXHMIA2EX , 150,000 ,000,000 150,000
OXNY S E =&l 2,000,000, 000& *50% ,000,000
O & g3 300,000, 000& *50% 150,000
ESaZAE= FbI 350,000 200,000 150,000
403 XXISHHSA20|H 350,000 200,000 150,000
01 XXSHH2EX 350,000 200,000 150,000
O=5Z A= & 700,000, 000-& *50% 350,000
ANEXNEES M E+3H| 4,224,027 4,503,200 N279,1783
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SN 2B
NB: 2HENE
&2l Z3 Hs ¥ BE CERE))
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
NEXEZ3M B3| = 3,249,251
& 974,776
403 KX SAHE0IH 4,224,027 4,503,200 AN279,173
= 3,249,251
& 974,776
01 XXSHHA2EX 4,224,027 4,503,200 AN279,173
OAMEXNEZ3 M E+FH|
6,498,502, 000 *x65% 4,224,027
& 3,249,251
& 974,776
SNZEZ ALHE 180,000 600,000 A 420,000
403 XX HMS K201 180,000 600,000 A 420,000
01 XXSHXMA2EE 180,000 600,000 2 420,000
O=SXNZE2Z Ated FHEH & 22 A
= 360,000, 000& *50% 180,000
NLHSAE B2 503,840 1,070,000 A566, 160
201 Let3| 3,840 0 3,840
01 AtER2teldl 3,840 0 3,840
OHENESESIAS BH2
120, 0003 *82I x4 3] 3,840
403 XXIEHMSAH201& 500,000 1,070,000 A570,000
01 XXSHXMA2EE 500,000 1,070,000 570,000
OXSEEAEE 28I (pool)
1,000,000, 000& *50% 500,000
gz 2 Ol=2 KNJAY 276,000 300,000 A 24,000
201 Let3y| 1,000 0 1,000
01 AtER2teldl 1,000 0 1,000
OSSO BNEAS FAcg
100,000 *10H 13 1,000
307 glz2told 100,000 0 100,000
02 QUAFAEX 100,000 0 100,000
og22 & Il=2 29 43 XA 100,000
402 BIZ2HX =0l 100,000 0 100,000
01 QIZIXI=22 X 100,000 0 100,000
Ogisa & D= 2t BEEANE S 100,000
403 XXIEHSAH20I& 75,000 300,000 A 225,000
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SA
X XH .
(=

chel:

SA - EH .S (BH) - MBAY - B Ofl A o4 gggf; HRS2
01 XXSHA=2EX 75,000 300,000 A225,000
O2UpIzsSpALES
250,000, 000& *30% 75,000
WEZ2ALSEEHY(=XH) 900,000 1,550,000 650,000
403 XXM SKHE0lH 900,000 1,550,000 650,000
01 AXESHMA2EEX 900,000 1,550,000 650,000
OUNESIIALSAEMUI(=XH)
3,000,000, 000& *30% 900,000
S ot E 243 ¥ T2 EXE B3H| 60,000 0 60,000
403 XXSHHSA20|H 60,000 0 60,000
01 XXSHMA=2EX 60,000 0 60,000
O23tM ot EE+HH ¥ St &E2H
X & 200,000, 000& *30% 60,000
F3MEE 22| XA 23,761,316 16,364,285 7,397,031
= 19,553,584
= 4,207,732
403 XXSHHSA20|H 23,761,316 16,364,285 7,397,031
=2 19,553,584
= 4,207,732
01 XXSHA=2EX 23,761,316 16,364,285 7,397,031
OB H2sH 23X FH|
3,700,000, 000& *85% 3,145,000
= 2,590,000
o= 555,000
OZ2DJINEE2SMH B3|
24,000,000, 000& *85% 20,400,000
= 16,800,000
o= 3,600,000
OZ2IMHE2s M 2xFHU|(SE235HM)
288,421,000%75% 216,316
= 163,584
o= 52,732
2SN 2BXNE X 1,549,600 1,809,600 260,000
g 1,192,000
== 357,600
403 XXSHHSAH20|H 1,549,600 1,809,600 A 260,000
e 1,192,000
= 357,600




SA
X{ ZH -
(=

SRk

[(BIH) - NIRAIS - BES

OH

-/

20
B
2

584,000, 000& *65%

S9AM Ot=xd8 K&

1,800,000, 000& *65%

&Y

H1

&Y

H

1,549,600

379,600
292,000
87,600

1,170,000
900,000
270,000

1,809,600

2,100,000

1,693,000

407,000

2,100,000

1,693,000

407,000

2,100,000
600,000
1,200,000

300,000

1,693,000

407,000

H

H

292,300
259,000
33,300

290,732

1,568

H

in

292,300
259,000
33,300

290,732

1,568

el Ak 370,000,000 x79%

H

H

292,300
292,300

259,000
33,300

290,732

1,568

W

32,480
32,480

32,480

H

32,480
32,480

32,480

H

32,480
32,480

32,480

32,480

H

H

2,600,000
2,000,000
600,000

1,000,000

1,600,000




SN 2aHED
NH: 2o EaE
& 23 Hs L EE CERE))
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
403 XXM SX20IH 2,600,000 0 2,600,000
= 2,000,000
= 600,000
01 XXESHHA2EE 2,600,000 0 2,600,000
O3=F,20 GMEZSEAZH
4,000,000, 000& *65% 2,600,000
= 2,000,000
= 600,000
SIESM LAM ALY 63,750 0 63,750
= 42,500
= 21,250
403 XXM SX20IH 63,750 0 63,750
= 42,500
= 21,250
01 XXX A2EE 63,750 0 63,750
OS2t M EEALY
85,000, 000& *75% 63,750
= 42,500
= 21,250
DIt =019 0] At 58,704 0 58,704
= 52,016
& 6,688
403 XXM SXH20IH 58,704 0 58,704
= 52,016
L= 6,688
01 XXX A2EE 58,704 0 58,704
OLI=E=IH0I LU IIALY 74,308,000& *79% 58,704
= 52,016
< 6,688
SRSXES ZAISE HHXIAY 208,000 0 208,000
= 160,000
& 48,000
308 XXEHMSO0IE 208,000 0 208,000
= 160,000
& 48,000
01 XXSHNBNEXZ 208,000 0 208,000




2AM: 250=
M. 2I0=RE
@ 2N HS ¥ B& CER:E
_ _ SIGE
2MH - 2 . H2(ZH) - MEAY - BES Ol & 'Oﬂ/'\_;ou HusZ
OEQLEXE3M ZA2E BHXIAIY
320,000, 000& *65% 208,000
= 160,000
T 48,000
SREAZSM YSAE 45,500 0 45,500
= 35,000
& 10,500
403 XXISHHMSKHE0lH 45,500 0 45,500
= 35,000
= 10,500
01 XAXESHMA2EE 45,500 0 45,500
OELESXRsM Us A
70,000, 000& *65% 45,500
= 35,000
= 10,500
SLESX2S MU MAIER2F IS 975,000 0 975,000
= 750,000
& 225,000
403 XNXSHHSAE0H 975,000 0 975,000
= 750,000
& 225,000
01 XAXESMASEE 975,000 0 975,000
OSSEZESFM SMAIE2E X
1,500,000, 000& *65% 975,000
= 750,000
= 225,000
TXNE2SM STAIE 2=XA 450,000 0 450,000
403 XXIEHMSA=201H 450,000 0 450,000
01 XAXESHA2EEX 450,000 0 450,000

OZXNEEZsM YMAIE =X

1,500,000, 000& *30% 450,000
SEHESM FEEE 145,000 40,000 105,000
307 220l & 45,000 40,000 5,000
04 CIZHHALE X 45,000 40,000 5,000
ORE=3M B&3 XA (M) 45,000
308 XNXIEHHMSOIE 100,000 0 100,000
01 AUXHHBLEEZ 100,000 0 100,000
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SA: 23H0E D
Mo 250EE
ol 230 S ¥ BE (£l & 2)
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
OZ&IINAl EC2ldl HRIBA K 100,000
2SI oHEA(KR) Y 60,000 0 60,000
403 XXIEHSKHE0IH 60,000 0 60,000
01 RXSHK=2E 60,000 0 60,000
OS2I OHEZ(R)S4E AEATL 60,000
WRE s (230E D) 800,000 280,000 520,000
WS Heh X = 800,000 280,000 520,000
=TUERSEPIEESE 800,000 280,000 520,000
702 JI2WEZ 800,000 280,000 520,000
NEEEEES] 800,000 280,000 520,000
O2s0£xEIZ M52 800,000
#F2AAL (2302 D) 96,880 107,540 £10,660
olzi2 | 10,200 10,200 0
olzi2 | 10,200 10,200 0
203 YLFAY| 10,200 10,200 0
01 JlZSALSFTL] 6.000 6,000 0
O=% 6.600,00021-600, 0002 6,000
04 RANSALSZTY 4,200 4,200 0
O23HsP2Fa 4,200
ol 22| 86,680 97,340 10,660
Ss0iED Ler2 A 86,680 97,340 £10,660
201 Ypr2 o] 44,000 47,840 £3,840
01 AtR2t2lH| 44,000 47,840 3,840
SEETUESSEESS 44,000
202 01| 42,680 49,500 £6,820
01 =UHoit] 42,680 49,500 16,820
SEETUESSEESS 42,680
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